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appropriate scientific terms, appropriate scientific terms,
testable testable
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Main Body: Main Body:
E N.E. Organized using E N.E. Organized using
Scientific Method format Scientific Method format
E N.E. Measurable independent and E N.E. Measurable independent and
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E N.E. The lab report has a E N.E. The lab report has a
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observations, and results. 40% observations, and results. 40%
E N.E. Appropriate presentation E N.E. Appropriate presentation
of scientific data and of scientific data and
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graphs, charts, drawings. graphs, charts, drawings.
Data is accurate and Data is accurate and
supports analysis supports analysis
E N.E. Qualitative and Quantitative E N.E. Qualitative and Quantitative
information given. information given.
Conclusions: Conclusions:
E N.E. clear and concise E N.E. clear and concise
conclusions. Conclusion conclusions. Conclusion
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to support conclusions and to support conclusions and
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